
This	answer	is	a	bit	different	from	the	one	in	the	solutions.	The	main	idea	of	this	answer	is	to	simply	pass	
the	challenge	from	the	spy	to	the	server,	then	have	the	server	present	the	decrypted	secret	(which	was	
intended	for	B)	to	the	spy.	However,	this	solution	has	one	problem:	it	assumes	that	the	server	accepts	
that	the	same	nonce	is	seen	twice.	Strictly	speaking,	the	protocol	for	the	server	does	not	check	this.	
However,	if	this	were	to	occur	in	reality,	the	opponent	process	below	would	not	work.

Alternatively,	we	could	consider	the	following	opponent	process,	which	is	based	on	the	solutions.
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